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King Abdul Aziz University =~ Faculty of Sciences Mathematics Department
Math 110 Spring 2011 Final (40 Marks) Time 120 m 7
Student Name: Student Number: \B

1) The critical numbers of the function f (x)=x P _3x2_Ox +5 are

la] 1 b]-1,3 -3,1 +3

2) The function f (x)=x’-3x"-9x +5 isincreasing on

la] o-nU@e ] (o-DUGE) (-1,3) (3,1)

3) The function f (x)=x>-3x?-9x +5 is decreasing on

la] (co-3U@® Bl (co,-DUG) (-1,3) (-3,1)

4) The function f (x)=x>-3x?-9x +5 has arelative maximum value at
the point

632 Bleu-9 (3,-22) (-1,10)

5) The function f (x)=x’—3x?-9x +5 has arelative minimum value at
the point

(3,32) 6] (-1,-9) ] 3,22 (=1,10)

]

6) The graphof f(x)=x*-3x>-9 +5 concave upward on

) B] (0,-1) c] @) (-1,0)

[&]

7) The graphof f(x)=x 3_-3x2-9x +5 concave downward on

(=e0,1) ] (—0,-1) c] (1) (-1,

s

8) The function f (x)=x>-3x"-9 +5 has an inflection point at

(1.-6) ] a,-10) (~1,10) (~1,-9)

=]

1

9 H y=—2yx —~ 3 -, then y'=
X
1 1 1 1 1 1 1 1
- —t— —t— | - ———— 8 = e =
d-spre B H-p H- g

10) D%(sinx)=

Ez] sinx @ COSX El — sinx — COSX

I)If y =xcos’(2x ), then y' =
la] cos? (2x ) cos(2x ) —3x sin(2x )] [6] cos?(2x ) cos(2x ) —6x sin(2x )]

cos” (2x )| cos(2x ) - 6sin(2x )] cos”(2x )| cos(2x )+ 6x sin(2x )]

12) The tangent line equation to the curve of f(x)=

J’=2x'3 @y=—2x—i By=2x4—i y=—2x+1

al 5 at the point (1,—1) is




r

13) If f (x)=5x7,then f'(x)=

: 2 2 2 2
] i S0 H 1+ (53 ) ] i 36 Y = (55D
x =0 h h—=0 h
3 2 g 2 2
%méS(x—%-h)h«t—(Sx ) %m%,(x +h)h (5x2)

14)If y =cot™ (x )—sin’l(e" ),then 3"

@_ﬁ 1 e @ 12+ ex2x

T+x? f1-e® 1+x I

1 e’ 1 e”
- dl -
1+x2 1/1_6295 1+x2+ 1__e2x

15Ify =3 +e™" theny'=
:cﬂ 3% secx tanx In3—2xe ™ @ 3% secx tanx In3—2xe™

.2 .2
a —3"** secx tanx —2xe 3%°* secx tanx —2xe””

cotx

16)If y =x 7 ,then y' =
a % {%—— sec’x Inx J x [cotx —csc’x Inx jl
X X
x [cotx +sec’x Inx } x {_c_:_ot_x_F csc’x Inx }
X X
17) The absolute maximum point of / (x )=3x?-12x +1 in [0,3] is
la] (0,2) 2,-11) 0,1) (2,-13)
18) The absolute minimum point of / (x )=3x>-12x +1 in [0,3] is
la] ©.2) bl-1D ©.1) 2,-13)
19) Find the domain of the functionf (x )= —225———
xX“+7x +6

rR\{L,6} ] R\{2,3} ] R\{-3,-2} ld] R\ {-6,-1}

20) The equation of the line passes through the points(3,4) and (5, —Z)is

@] y=-3x +17 Bly=3x-13 [c]y=3x+4 [d]y=-3x+I13

21) The number ¢ in (0,3) which make the fanction [ (x)=x °+3x —4 satisfy
Mean Value Theorem on [0,3] is

1 3 3 1
_ = pl== = gl =
a-1 B-2 @]

22) If £ (x)=+/x , and g(x)=cotx’, then (f o g)x)=
[4] Veotx cotx Clveotx?>  [D]cotv/x




23) If y =(2x2+1)6,then 3=

[al24(2x2+1) [ 6x(262+1) 6(2x% +1) 24x (262 +1)

24) If f (x)=x +2,and g(x)=x +3, then (fg)x)=
[a]x?+5x +6  [p]x’+7x +6 [clx?-5x+6 [d]x*-7x +6

251t ¥ —2siny —3x*—=5=0,then y ' =
6x

6x 6x 6x
b - d| =
al 3y*-2cosy 3y*+2cosy 3y*-2co0sy 3y*+2cosy
x +1 is

26) The horizontal asymptote of / (x)=
Tx +1

1 1
x=‘7‘ y=—-7

1 1
@ x_——7— @}’—-7‘
INIE Yy =+2x° +2x ,then y' =
2 2 2 2
E 3x 3x “+1 3x “+1 6x
. 22x %+ 2x @ 22x% +2x N2x P+ 2x . N2x P+ 2x
28) The vertical asymptote of /' (x )= %+l 1S
Tx +1
1 1 1 1
= e - cl x =— d sy
gl x=- - bly == €= ] vy =- -
’ 3x2—2x—1_
29) — xtex—2
3 4
@ does not exist @1 Y 5

30) Find the range of the functionf (x ) =~x —1.
(——oo,O]

d[0)  [plL) R = (~0,)

=0

5 3 3 4
g B @Bl @3

32) The inverse of the function /' (x)=3x -2 1S
1

ye b )=
lal 7)== bl /76 =—
X +2

o] /=15 =2




. 5x -5
U 131 =
33) x—1 ]nx

@l ms  E-s @

5

34) function f (x )=sin~'(x +35) is continuous on

la][4.6] (-6.-4) [] (46 ldl[-6-4]

35) e TAK 2=

la]120° [5]150° c] 240° l2]300°

36) The solution of the inequality [x — 4{ <3is

L7 Bl @7 (—0,))U(7,0) [d](=o0,1]U[7,0)

37) lim sin(4x ) _
x-0 tan(3x )
3 4
la] 3 2] 'j: 3 4
2
38)  The function f (%)= *; is
PR
@ Even Odd Even and odd Neither even nor odd

39)If y =log, Jx?+9, then g

2

X 3x? 3x? 3x?
4] ] le] —~— ld]

2(x*+9)n9 — 2(x>+9)In9 — (x°+9)m9 25 +9)
40) }1330777;2 (Ei_g}}oa’f =00,d > Lii_rgax =0,0 <a<1)

[a]o [5]1 [c] does not exist o0




